

Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: August 4, 2025

Progress Estimate Number 10	Contract ID Prime Contra		15-C06 ner Electric, Inc.		eriod Start eriod End	,	16, 2025 ist 1, 2025	Original Contract Amount Net Change Order Amount Current Contract Amount	\$995,167.54 \$0.00 \$995,167.54
Approval Date									By User
August 4, 2025			Generated and	d Approve	ed (and shou	ld be co	nsidered Dr	raft) at the Project Office Level by	gonzalez
August 5, 2025			Reviewed and App	roved (a	nd should be	conside	ered Draft) a	t the Resident Engineer Level by	sandis1
August 6, 2025				Review	ed and Appro	oved at	the Central	Office Controllers Office Level by	ramses1
Original Completi	on Date	Current Co	ompletion Date	Ac	tual Comple	tion Da	ite	% of Current Contract Amoun	nt Complete
November 1, 2	025	Novem	ber 1, 2025					52.27%	
	Co	ntract Informati	tional Dates					Milestones	
Date Description	Original Co	mpletion Date	Current Completi	on Date		N	o Milestone	s Exist for Contract	
Acceptance Date									
Awarded Date	December 4	, 2024	December 4, 2024						
Letting Date	November 1	5, 2024	November 15, 202	4					
Notice to Proceed Date	January 6, 2	2025	January 6, 2025						
Work Began Date	March 17, 2	025	March 17, 2025						

Contract Total Pa	ay For Estimate No. 10				
		This Estimate	Previous	To Date	
241115-C06					
	Total Posted Items Pay	\$84,241.70	\$435,975.88	\$520,217.58	
	Gross Item Adjustments	(\$17,150.73)	\$48,961.85	\$31,811.12	
	Incentive	\$0.00	\$0.00	\$0.00	
	Disincentive	\$0.00	\$0.00	\$0.00	
	Liquidated Damage	\$0.00	\$0.00	\$0.00	
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00	
	•		\$484,937.73	\$552,028.70	
Contract Total Pa	avable This Estimate:	\$67 090 97			

Items Paid This Estimate Period

Itomo i did im		<u> </u>					
Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
JKU0116	0030	6161005	CONSTRUCTION SIGNS	SQFT	\$2.500	64	\$160.00
	0040	6161025	CHANNELIZER (TRIM-LINE)	EA	\$6.500	20	\$130.00
	0140	7071000	CONDUIT SYSTEM ON STRUCTURE	LS	\$27,473.000	0.900	\$24,725.70
	0150	9011064	LIGHTING POLE, 45 FT. OR 13.5 M, TYPE AT DESIGN 3	EA	\$3,429.500	5	\$17,147.50
	0160	9011115	BRACKET ARM, 15 FT. OR 4.6 M	EA	\$1,182.000	5	\$5,910.00
	0170	9011312	LUMINAIRE, LED-B	EA	\$390.000	5	\$1,950.00
	0200	9015010	TRENCHING TYPE I	LF	\$4.500	150	\$675.00
	0210	9016110	PULL BOX, PREFORMED CLASS 1	EA	\$1,588.500	6	\$9,531.00
	0220	9017110	CABLE, 10 AWG 1 CONDUCTOR, POLE AND BRACKET	LF	\$1.000	650	\$650.00
	0240	9017407	CABLE-CONDUIT, 1 IN., 2 CONDUCTORS AND 1 BARE NEUTRAL, 8 AWG	LF	\$3.500	6,675	\$23,362.50

 Project JKU0116 - Total
 \$84,241.70

 Overall - Total
 \$84,241.70

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract

Line Item A	<u>Adjustr</u>	nents This Estimate						
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
JKU0116	0140	CONDUIT SYSTEM ON STRUCTURE	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0001) due to user gonzalez overridding Payment Estimate Exception 1 on the current Payment Estimate.	0.90000	\$27,473.00	\$24,725.70
	0140	CONDUIT SYSTEM ON	Material			-0.90000	\$27,473.00	(\$24,725.70)

Revision 5/29/2025 Page 1 of 13



Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: August 4, 2025

Estimate	gress e Numl 10	Contract ID ber Prime Contractor	241115-C06 Gerstner Electric		ay Period End August 1, 2025 Net C	nal Contract An hange Order An ent Contract Am	nount	\$995,167.54 \$0.00 \$995,167.54
Project lumber	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
(U0116		STRUCTURE						
	0150	LIGHTING POLE, 45 FT. OF 13.5 M, TYPE AT DESIGN (Payment Estimate Item Adjustment generate Stockpile Transaction	ed		(\$17,150.73)
	0150	LIGHTING POLE, 45 FT. OI 13.5 M, TYPE AT DESIGN S			This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0003) due to user gonzalez overridding Payment Estimate Exception 3 of the current Payment Estimate.	6 on	\$3,429.50	\$20,577.00
	0150	LIGHTING POLE, 45 FT. OF 13.5 M, TYPE AT DESIGN (-6	\$3,429.50	(\$20,577.00)
	0160	BRACKET ARM, 15 FT. OR 4.6 M	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0004) due to user gonzalez overridding Payment Estimate Exception 4 of the current Payment Estimate.	6	\$1,182.00	\$7,092.00
	0160	BRACKET ARM, 15 FT. OR 4.6 M	Material			-6	\$1,182.00	(\$7,092.00)
	0170	LUMINAIRE, LED-B	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0005) due to user gonzalez overridding Payment Estimate Exception 5 of the current Payment Estimate.	6 on	\$390.00	\$2,340.00
	0170	LUMINAIRE, LED-B	Material			-6	\$390.00	(\$2,340.00)
	0190	CONDUIT, 4 IN. RIGID, PUSHED	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0006) due to user gonzalez overridding Payment Estimate Exception 6 of the current Payment Estimate.	3,140	\$18.50	\$58,090.00
	0190	CONDUIT, 4 IN. RIGID, PUSHED	Material			-3,140	\$18.50	(\$58,090.00)
	0200	TRENCHING TYPE I	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0007) due to user gonzalez overridding Payment Estimate Exception 11 on the current Payment Estimate.	26,695	\$4.50	\$120,127.50
	0200	TRENCHING TYPE I	Material			-26,695	\$4.50	(\$120,127.50)
	0210	PULL BOX, PREFORMED CLASS 1	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0008) due to user gonzalez overridding Payment Estimate Exception 7 of the current Payment Estimate.	64 on	\$1,588.50	\$101,664.00
	0210	PULL BOX, PREFORMED CLASS 1	Material			-64	\$1,588.50	(\$101,664.00)
	0220	CABLE, 10 AWG 1 CONDUCTOR, POLE AND BRACKET	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0009) due to user gonzalez overridding Payment Estimate Exception 8 of the current Payment Estimate.	780 on	\$1.00	\$780.00
	0220	CABLE, 10 AWG 1 CONDUCTOR, POLE AND BRACKET	Material			-780	\$1.00	(\$780.00)
	0240	CABLE-CONDUIT, 1 IN., 2 CONDUCTORS AND 1 BAF NEUTRAL, 8 AWG	Material RE		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0010) due to user gonzalez overridding Payment Estimate Exception 9 of the current Payment Estimate.	7,110	\$3.50	\$24,885.00
	0240	CABLE-CONDUIT, 1 IN., 2 CONDUCTORS AND 1 BAR NEUTRAL, 8 AWG	Material RE			-7,110	\$3.50	(\$24,885.00)
	0250	POLE FOUNDATION (45 F	Γ. Material		This adjustment offsets the original system-	29	\$2,020.00	\$58,580.00

Revision 5/29/2025 Page 2 of 13



Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: August 4, 2025

Estimate	gress e Numl 10		241115-C06 Gerstner Electric			16, 2025 ust 1, 2025	Net Chai	Contract Am nge Order An Contract Am	nount	\$995,167.54 \$0.00 \$995,167.54
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comm	nents		Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
JKU0116		OR 13.5 M MOUNTING HEIGHT)			generated Material Payn Adjustment (0011) due to overridding Payment Est on the current Payment I	o user gonzal timate Except	ez			
	0250	POLE FOUNDATION (45 FT. OR 13.5 M MOUNTING HEIGHT)	Material					-29	\$2,020.00	(\$58,580.00)
Total										(\$17,150.73)

Revision 5/29/2025 Page 3 of 13



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					Co	ontract Project Informa	tion
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work
JKU0116	FAS S304(64)	Lighting	Various	JACKSON	at various locations in	Jackson County	
Totals b	y Job Ni	umbers					
JKU0116					This Estimate	Previous	To Date
		d Item Pay Item Adjustm		tem Pay	\$84,241.70 (\$17,150.73) \$67,090.97	\$435,975.88 \$48,961.85 \$484,937.73	\$520,217.58 \$31,811.12 \$552,028.70
	Incent	ive			\$0.00	\$0.00	\$0.00
	Disino	entive			\$0.00	\$0.00	\$0.00
		ated Damages			\$0.00	\$0.00	\$0.00
	Other	Contract Adjus	stments		\$0.00	\$0.00	\$0.00

Revision 5/29/2025 Page 4 of 13



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project JKU0116, Item 7071000, Project Item Line Number 0140, Material Set 707100096, Material 1062JBHL - Junction Boxes for Highway Lighting, Acceptance Action Generic 1062JBHL is insufficient.	This exception will be removed upon the submission of documentation for this material by the contractor.	gonzam1	Overridden
Estimate Exception Type: Insufficient Materials: Project JKU0116, Item 7071000, Project Item Line Number 0140, Material Set 707100096, Material 1060EC - Electrical Conduit Material, Acceptance Action Generic 1060EC is insufficient.	This exception will be removed upon the submission of documentation for this material by the contractor.	gonzam1	Overridden
Estimate Exception Type: Insufficient Materials: Project JKU0116, Item 9011064, Project Item Line Number 0150, Material Set 901106496, Material 0901LHXX - Highway Lighting Material, Acceptance Action Generic 0901LHXX is insufficient.	This exception will be removed upon the submission of documentation for this material by the contractor.	gonzam1	Overridden
Estimate Exception Type: Insufficient Materials: Project JKU0116, Item 9011115, Project Item Line Number 0160, Material Set 901111596, Material 0901LHXX - Highway Lighting Material, Acceptance Action Generic 0901LHXX is insufficient.	This exception will be removed upon the submission of documentation for this material by the contractor.	gonzam1	Overridden
Estimate Exception Type: Insufficient Materials: Project JKU0116, Item 9011312, Project Item Line Number 0170, Material Set 9011312, Material 0901LHXX - Highway Lighting Material, Acceptance Action Generic 0901LHXX is insufficient.	This exception will be removed upon the submission of documentation for this material by the contractor.	gonzam1	Overridden
Estimate Exception Type: Insufficient Materials: Project JKU0116, Item 9014004, Project Item Line Number 0190, Material Set 901400496, Material 1060EC - Electrical Conduit Material, Acceptance Action Generic 1060EC is insufficient.	This exception will be removed upon the submission of documentation for this material by the contractor.	gonzam1	Overridden
Estimate Exception Type: Insufficient Materials: Project JKU0116, Item 9016110, Project Item Line Number 0210, Material Set 901611096, Material 1062PBPF - Pull Box Preformed Poly Resin Fiber, Acceptance Action Generic 1062PBPF is insufficient.	This exception will be removed upon the submission of documentation for this material by the contractor.	gonzam1	Overridden
Estimate Exception Type: Insufficient Materials: Project JKU0116, Item 9017110, Project Item Line Number 0220, Material Set 901711096, Material 0901LHXX - Highway Lighting Material, Acceptance Action Generic 0901LHXX is insufficient.	This exception will be removed upon the submission of documentation for this material by the contractor.	gonzam1	Overridden
Estimate Exception Type: Insufficient Materials: Project JKU0116, Item 9017407, Project Item Line Number 0240, Material Set 901740796, Material 0901LHXX - Highway Lighting Material, Acceptance Action Generic 0901LHXX is insufficient.	This exception will be removed upon the submission of documentation for this material by the contractor.	gonzam1	Overridden
Estimate Exception Type: Insufficient Materials: Project JKU0116, Item 9018245, Project Item Line Number 0250, Material Set 901824596, Material 0901LHPFSA - Foundation for Highway Lighting, Acceptance Action Generic 0901LHPFSA is insufficient.	This exception will be removed upon the submission of documentation for this material by the contractor.	gonzam1	Overridden
Estimate Exception Type: Insufficient Materials: Project JKU0116, Item 9015010, Project Item Line Number 0200, Material Set Trenching, Material 0611EPSTRBT1 - Rock Blanket Type 1 of Stone, Acceptance Action generic 0611EPSTRBT1 is insufficient.	This exception will be removed upon the submission of documentation for this material by the contractor.	gonzam1	Overridden
Estimate Exception Type: Item Overrun: Contract 241115-C06, Contract Project JKU0116, Project Item Line Number 0190, Contract Line Item Number 0190, Item 9014004, Minor Item.	This exception will be removed upon approval of change order.	gonzam1	Acknowledged

Revision 5/29/2025 Page 5 of 13



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

ontract ID	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
41115-	JKU0116	0001	0010	2013000	CLEARING AND GRUBBING	0.50	0.00	0.50	ACRE	0.05	\$8,677.68	\$433.88
:06		0001	0020	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.00	\$10,444.50	\$0.00
		0001	0030	6161005	CONSTRUCTION SIGNS	559.00	0.00	559.00	SQFT	272.00	\$2.50	\$680.00
		0001	0040	6161025	CHANNELIZER (TRIM-LINE)	300.00	0.00	300.00	EA	121.00	\$6.50	\$786.50
		0001	0050	6161040	FLASHING ARROW PANEL	2.00	0.00	2.00	EA	0.00	\$1,050.00	\$0.00
		0001	0060	6169902	MISC.ADA MOVEABLE SIDEWALK BARRICADE	4.00	0.00	4.00	EA	0.00	\$185.00	\$0.00
		0001	0070	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.89	\$112,000.00	\$99,456.00
		0001	0080	8025006	MULCHING	2.20	0.00	2.20	ACRE	0.00	\$2,499.50	\$0.00
		0001	0090	8051000A	SEEDING - COOL SEASON GRASSES	2.20	0.00	2.20	ACRE	0.00	\$2,499.50	\$0.00
		0001	0100	8061004	SEDIMENT TRAP ROCK	6.70	0.00	6.70	CUYD	0.00	\$492.00	\$0.00
		0001	0110	8061005	ROCK DITCH CHECK	90.00	0.00	90.00	LF	0.00	\$41.00	\$0.00
		0001	0120	8061016	SEDIMENT REMOVAL	374.00	0.00	374.00	CUYD	0.00	\$58.00	\$0.00
		0001	0130	8061019	SILT FENCE	35,750.00	0.00	35,750.00	LF	0.00	\$1.50	\$0.00
		0020	0140	7071000	CONDUIT SYSTEM ON STRUCTURE	1.00	0.00	1.00	LS	0.90	\$27,473.00	\$24,725.70
		0020	0150	9011064	LIGHTING POLE, 45 FT. OR 13.5 M, TYPE AT DESIGN 3	37.00	0.00	37.00	EA	6.00	\$3,429.50	\$20,577.00
		0020	0160	9011115	BRACKET ARM, 15 FT. OR 4.6 M	37.00	0.00	37.00	EA	6.00	\$1,182.00	\$7,092.00
		0020	0170	9011312	LUMINAIRE, LED-B	37.00	0.00	37.00	EA	6.00	\$390.00	\$2,340.00
		0020	0180	9012230	BASE MOUNTED CONTROL STATION 240 VOLT - 4 CIRCUIT	4.00	0.00	4.00	EA	0.00	\$10,943.00	\$0.00
		0020	0190	9014004	CONDUIT, 4 IN. RIGID, PUSHED	2,240.00	0.00	2,240.00	LF	3,140.00	\$18.50	\$58,090.00
		0020	0200	9015010	TRENCHING TYPE I	28,375.00	0.00	28,375.00	LF	26,695.00	\$4.50	\$120,127.50
		0020	0210	9016110	PULL BOX, PREFORMED CLASS 1	85.00	0.00	85.00	EA	64.00	\$1,588.50	\$101,664.00
		0020	0220	9017110	CABLE, 10 AWG 1 CONDUCTOR, POLE AND BRACKET	4,810.00	0.00	4,810.00	LF	780.00	\$1.00	\$780.00
		0020	0230	9017401	CABLE-CONDUIT, 1 IN., 2 CONDUCTORS AND 1 BARE NEUTRAL, 2 AWG	720.00	0.00	720.00	LF	0.00	\$17.00	\$0.00
		0020	0240	9017407	CABLE-CONDUIT, 1 IN., 2 CONDUCTORS AND 1 BARE NEUTRAL, 8 AWG	33,330.00	0.00	33,330.00	LF	7,110.00	\$3.50	\$24,885.00
		0020	0250	9018245	POLE FOUNDATION (45 FT. OR 13.5 M MOUNTING HEIGHT)	37.00	0.00	37.00	EA	29.00	\$2,020.00	\$58,580.00
	Project Ji	(U0116 - To	otal Value	Posted to I	Date as of Report Generated Date							\$520,217.58
41115-C	06 Overall	- Total Val	ue Poste	d to Date as	of Report Generated Date							\$520,217.58

Revision 5/29/2025 Page 6 of 13



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: JKU0116

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Posting Sequence No.	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0030	6161005	CONSTRUCTION SIGNS	7/24/25	8/4/25	1	64.00	SQFT	Various	+		+		
0040	6161025	CHANNELIZER (TRIM-LINE)	7/24/25	8/4/25	1	20.00	EA	Various	+		+		
0140	7071000	CONDUIT SYSTEM ON STRUCTURE	7/15/25	8/4/25	1	0.25	LS	I-470 at View High Dr					Began Bridge Conduit Installation. Drilled Holes, Installed Threaded Rod with Epoxy, Made it Halfway Across bridge.
			7/16/25	8/4/25	1	0.50	LS	I-470 at View High Dr					Completed Remaining Studs, and Mounting Hardware. Installed 120 LF of 2" Bridge Conduit
			7/23/25	8/4/25	1	0.15	LS	I-470 at View High Dr					Installed Bridge Conduit
0150	9011064	LIGHTING POLE, 45 FT. OR 13.5 M, TYPE AT	7/22/25	8/4/25	1	1.00	EA	I-470 at Lakewood/Bowlin					Installed Light Pole, Arm, Fixture and #10 Pole & Bracket Wire for LP-4
			7/24/25	8/4/25	1	4.00	EA	US 24 at MO-7					Installed Light Poles LP-1, LP-2, LP-3 and LP-4
0160	9011115	BRACKET ARM, 15 FT. OR 4.6 M	7/22/25	8/4/25	1	1.00	EA	I-470 at Lakewood/Bowlin					Installed Light Pole, Arm, Fixture and #10 Pole & Bracket Wire for LP-4
			7/24/25	8/4/25	1	4.00	EA	Us 24 at MO-7					Installed 15 FT. Bracket Arms at LP-1, LP-2, LP-3 and LP-4
0170	9011312	LUMINAIRE, LED-B	7/22/25	8/4/25	1	1.00	EA	I-470 at Lakewood/Bowlin					Installed Light Pole, Arm, Fixture and #10 Pole & Bracket Wire for LP-4
			7/24/25	8/4/25	1	4.00	EA	US 24 at MO-7					Installed LED Fixtures at LP-1, LP-2, LP-3 and LP-4
0200	9015010	TRENCHING TYPE I	7/22/25	8/4/25	1	80.00	LF	I-470 at Lakewood/Bowlin					Installed 1" HDPE between PB-15 and LP-4 - 80 LF Type I Trenching
			7/23/25	8/4/25	1	70.00	LF	I-70 at MO-7					Installed 1" HDPE near PB-3 - 70 LF Type I Trenching
0210	9016110	PULL BOX, PREFORMED CLASS 1	7/15/25	8/4/25	1	1.00	EA	I-470 at Raytown Rd					Installed PB-3
			7/16/25	8/4/25	1	1.00	EA	I-470 at Raytown Rd					Installed PB-5
			7/22/25	8/4/25	1	1.00	EA	I-470 at Lakewood/Bowlin					Installed PB-15 (Class 1)
			7/23/25	8/4/25	1	2.00	EA	I-470 at Lakewood/Bowlin, I-70 at MO-7					Underground Work at Interchange #10 - I-470 @ Lakewood/Bowlin - Installed PB-9 (Class 1)
													Underground Work at Interchange #3 - I-70 @ MO 7 - Installed PB-3 (Class 1)
			7/31/25	8/4/25	1	1.00	EA	I-470 at Raytown Rd					Installed Class 1 Pull Box (Extra on WB Off-Ramp)
0220	9017110	CABLE, 10 AWG 1 CONDUCTOR, POLE & BRACKE	7/22/25	8/4/25	1	130.00	LF	I-470 at Lakewood/Bowlin					Installed Light Pole, Arm, Fixture and #10 Pole & Bracket Wire for LP-4
			7/24/25	8/4/25	1	520.00	LF	US 24 at MO-7					Installed #10 Pole & Bracket Wire for LP-1, LP-2, LP-3 and LP-4 - 520 LF
0240	9017407	CABLE-CONDUIT, 1 IN., 2 CONDUCTORS	7/28/25	8/4/25	1	435.00	LF	I-435 at Front St					Installed #8 Wire ('Cable Duct') from Ex. LP to LP-1 (through PB-1) - 870 LF 'Correcting an error made on May 29, 2025, where 435 LF of cable was mistakenly posted. The posting for this quantity will be 435 LF, but the total quantity installed is 870 LF.
			7/29/25	8/4/25	1	810.00	LF	US 24 at MO-7					Installed #8 Wire (Cable-Duct) from LP-3 to LP-4 - 810 LF
			7/31/25	8/4/25	1	5,430.00	LF	US 24 at MO-7					Installed Remaining #8 Cable-Conduit at Interchange - 5,430 LF (1" CABLE-CONDUIT)

The information below this line are details for Construction Signs (if applicable).

No Data Available

Revision 6/5/2025 Page 7 of 13



	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
JKU0116	0030	CONSTRUCTION SIGNS	Material		3	Apr 16, 2025	SYSTEM	(\$520.00)	
					3	Apr 16, 2025	SYSTEM	\$520.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user gonzalez overridding Payment Estimate Exception 1 on the current Payment Estimate.
					4	May 2, 2025	SYSTEM	(\$520.00)	
					4	May 2, 2025	SYSTEM	\$520.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user gonzalez overridding Payment Estimate Exception 1 on the current Payment Estimate.
					5	May 16, 2025	SYSTEM	(\$520.00)	
					5	May 16, 2025	SYSTEM	\$520.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user gonzalez overridding Payment Estimate Exception 1 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0030 -	- Total						\$0.00	
	0040	CHANNELIZER (TRIM-LINE)	Material		3	Apr 16, 2025	SYSTEM	(\$656.50)	
					3	Apr 16, 2025	SYSTEM	\$656.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user gonzalez overridding Payment Estimate Exception 2 on the current Payment Estimate.
					4	May 2, 2025	SYSTEM	(\$656.50)	
					4	May 2, 2025	SYSTEM	\$656.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user gonzalez overridding Payment Estimate Exception 2 on the current Payment Estimate.
					5	May 16, 2025	SYSTEM	(\$656.50)	
					5	May 16, 2025	SYSTEM	\$656.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user gonzalez overridding Payment Estimate Exception 2 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0040 -	Total						\$0.00	
	0140	CONDUIT SYSTEM ON	Material		10	Aug 4, 2025	SYSTEM	(\$24,725.70)	
		STRUCTURE							
					10	Aug 4, 2025	SYSTEM	\$24,725.70	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user gonzalez overridding Payment Estimate Exception 1 on the current Payment Estimate.
				- Total	10		SYSTEM	\$24,725.70 \$0.00	Estimate Item Adjustment (0001) due to user gonzalez overridding Payment
			Material - To		10		SYSTEM		Estimate Item Adjustment (0001) due to user gonzalez overridding Payment
	0140 -				10		SYSTEM	\$0.00	Estimate Item Adjustment (0001) due to user gonzalez overridding Payment
		Total LIGHTING POLE, 45 FT. OR 13.5	Material - Too Construction Stockpile		9		SYSTEM	\$0.00 \$0.00	Estimate Item Adjustment (0001) due to user gonzalez overridding Payment
		- Total LIGHTING POLE,	Construction			2025 Jul 16,		\$0.00 \$0.00 \$0.00	Estimate Item Adjustment (0001) due to user gonzalez overridding Payment Estimate Exception 1 on the current Payment Estimate.
		Total LIGHTING POLE, 45 FT. OR 13.5	Construction		9	Jul 16, 2025 Aug 4,	SYSTEM	\$0.00 \$0.00 \$0.00 (\$3,430.15)	Estimate Item Adjustment (0001) due to user gonzalez overridding Payment Estimate Exception 1 on the current Payment Estimate. Payment Estimate Item Adjustment generated Stockpile Transaction
		Total LIGHTING POLE, 45 FT. OR 13.5	Construction Stockpile	tal	9	Jul 16, 2025 Aug 4,	SYSTEM	\$0.00 \$0.00 \$0.00 (\$3,430.15) (\$17,150.73)	Estimate Item Adjustment (0001) due to user gonzalez overridding Payment Estimate Exception 1 on the current Payment Estimate. Payment Estimate Item Adjustment generated Stockpile Transaction
		Total LIGHTING POLE, 45 FT. OR 13.5	Construction Stockpile Construction Construction Stockpile	- Total 1 Stockpile - ¹	9	Jul 16, 2025 Aug 4,	SYSTEM	\$0.00 \$0.00 \$0.00 (\$3,430.15) (\$17,150.73) (\$20,580.88) (\$20,580.88) \$69,042.00	Estimate Item Adjustment (0001) due to user gonzalez overridding Payment Estimate Exception 1 on the current Payment Estimate. Payment Estimate Item Adjustment generated Stockpile Transaction
		Total LIGHTING POLE, 45 FT. OR 13.5	Construction Stockpile Construction Construction Stockpile STMI	- Total - Stockpile - Total	9 10 Fotal	Jul 16, 2025 Aug 4, 2025 May 2, 2025	SYSTEM SYSTEM	\$0.00 \$0.00 \$0.00 (\$3,430.15) (\$17,150.73) (\$20,580.88) (\$20,580.88) \$69,042.00	Estimate Item Adjustment (0001) due to user gonzalez overridding Payment Estimate Exception 1 on the current Payment Estimate. Payment Estimate Item Adjustment generated Stockpile Transaction Payment Estimate Item Adjustment generated Stockpile Transaction
		Total LIGHTING POLE, 45 FT. OR 13.5	Construction Stockpile Construction Construction Stockpile STMI Construction	- Total 1 Stockpile - ¹	9 10 Total 4	Jul 16, 2025 Aug 4, 2025 May 2, 2025	SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 \$0.00 (\$3,430.15) (\$17,150.73) (\$20,580.88) (\$20,580.88) \$69,042.00 \$69,042.00	Estimate Item Adjustment (0001) due to user gonzalez overridding Payment Estimate Exception 1 on the current Payment Estimate. Payment Estimate Item Adjustment generated Stockpile Transaction Payment Estimate Item Adjustment generated Stockpile Transaction
		Total LIGHTING POLE, 45 FT. OR 13.5	Construction Stockpile Construction Construction Stockpile STMI	- Total - Stockpile - Total	9 10 Fotal	Jul 16, 2025 Aug 4, 2025 May 2, 2025	SYSTEM SYSTEM	\$0.00 \$0.00 \$0.00 (\$3,430.15) (\$17,150.73) (\$20,580.88) (\$20,580.88) \$69,042.00	Estimate Item Adjustment (0001) due to user gonzalez overridding Payment Estimate Exception 1 on the current Payment Estimate. Payment Estimate Item Adjustment generated Stockpile Transaction Payment Estimate Item Adjustment generated Stockpile Transaction
		Total LIGHTING POLE, 45 FT. OR 13.5	Construction Stockpile Construction Construction Stockpile STMI Construction	- Total - Stockpile - Total	9 10 Total 4	Jul 16, 2025 Aug 4, 2025 May 2, 2025	SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 \$0.00 (\$3,430.15) (\$17,150.73) (\$20,580.88) (\$20,580.88) \$69,042.00 \$69,042.00	Estimate Item Adjustment (0001) due to user gonzalez overridding Payment Estimate Exception 1 on the current Payment Estimate. Payment Estimate Item Adjustment generated Stockpile Transaction Payment Estimate Item Adjustment generated Stockpile Transaction
		Total LIGHTING POLE, 45 FT. OR 13.5	Construction Stockpile Construction Construction Stockpile STMI Construction	- Total - Stockpile - Total	9 10 Total 4	Jul 16, 2025 Aug 4, 2025 May 2, 2025 Jul 16, 2025 Jul 16,	SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 \$0.00 (\$3,430.15) (\$17,150.73) (\$20,580.88) (\$20,580.88) \$69,042.00 \$69,042.00 (\$3,429.50)	Estimate Item Adjustment (0001) due to user gonzalez overridding Payment Estimate Exception 1 on the current Payment Estimate. Payment Estimate Item Adjustment generated Stockpile Transaction Payment Estimate Item Adjustment generated Stockpile Transaction Payment Estimate Item Adjustment generated Stockpile Transaction This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user gonzalez overridding Payment



	Line	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks
			Type	Adjustment Type	Number	Date	Ву		
JKU0116	0150	LIGHTING POLE, 45 FT. OR 13.5	Material			2025			Estimate Item Adjustment (0003) due to user gonzalez overridding Payment Estimate Exception 3 on the current Payment Estimate.
		M, TYPE AT		- Total				\$0.00	
			Material - To	tal				\$0.00	
	0150	- Total						\$48,461.12	
	0160	BRACKET ARM, 15 FT. OR 4.6 M	Material		9	Jul 16, 2025	SYSTEM	(\$1,182.00)	
					9	Jul 16, 2025	SYSTEM	\$1,182.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user gonzalez overridding Payment Estimate Exception 2 on the current Payment Estimate.
					10	Aug 4, 2025	SYSTEM	(\$7,092.00)	
					10	Aug 4, 2025	SYSTEM	\$7,092.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user gonzalez overridding Payment Estimate Exception 4 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0160	- Total						\$0.00	
		LUMINAIRE, LED-B	Material		9	Jul 16, 2025	SYSTEM	(\$390.00)	
					9	Jul 16, 2025	SYSTEM	\$390.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user gonzalez overridding Payment Estimate Exception 3 on the current Payment Estimate.
					10	Aug 4, 2025	SYSTEM	(\$2,340.00)	
					10	Aug 4, 2025	SYSTEM	\$2,340.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user gonzalez overridding Payment Estimate Exception 5 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	tal				\$0.00	
				tu:				Ψ0.00	
	0170	- Total		····				\$0.00	
	0170 - 0190	CONDUIT, 4 IN. RIGID, PUSHED	Material		2	Apr 2, 2025	SYSTEM		
		CONDUIT, 4 IN.	Material		2		SYSTEM SYSTEM	\$0.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user gonzalez overridding Payment Estimate Exception 1 on the current Payment Estimate.
		CONDUIT, 4 IN.	Material			2025 Apr 2,		\$0.00 (\$25,992.50)	Estimate Item Adjustment (0001) due to user gonzalez overridding Payment
		CONDUIT, 4 IN.	Material		2	2025 Apr 2, 2025 Apr 16,	SYSTEM	\$0.00 (\$25,992.50) \$25,992.50	Estimate Item Adjustment (0001) due to user gonzalez overridding Payment
		CONDUIT, 4 IN.	Material		2	2025 Apr 2, 2025 Apr 16, 2025 Apr 16,	SYSTEM SYSTEM	\$0.00 (\$25,992.50) \$25,992.50 (\$41,440.00)	Estimate Item Adjustment (0001) due to user gonzalez overridding Payment Estimate Exception 1 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user gonzalez overridding Payment
		CONDUIT, 4 IN.	Material		3	2025 Apr 2, 2025 Apr 16, 2025 Apr 16, 2025 May 2,	SYSTEM SYSTEM	\$0.00 (\$25,992.50) \$25,992.50 (\$41,440.00) \$41,440.00	Estimate Item Adjustment (0001) due to user gonzalez overridding Payment Estimate Exception 1 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user gonzalez overridding Payment
		CONDUIT, 4 IN.	Material		3 3 4	2025 Apr 2, 2025 Apr 16, 2025 Apr 16, 2025 May 2, 2025 May 2,	SYSTEM SYSTEM SYSTEM SYSTEM	\$0.00 (\$25,992.50) \$25,992.50 (\$41,440.00) \$41,440.00 (\$58,090.00)	Estimate Item Adjustment (0001) due to user gonzalez overridding Payment Estimate Exception 1 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user gonzalez overridding Payment Estimate Exception 3 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user gonzalez overridding Payment
		CONDUIT, 4 IN.	Material		2 3 3 4 4	2025 Apr 2, 2025 Apr 16, 2025 Apr 16, 2025 May 2, 2025 May 2, 2025 May 16, May 16,	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$0.00 (\$25,992.50) \$25,992.50 (\$41,440.00) \$41,440.00 (\$58,090.00) \$58,090.00	Estimate Item Adjustment (0001) due to user gonzalez overridding Payment Estimate Exception 1 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user gonzalez overridding Payment Estimate Exception 3 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user gonzalez overridding Payment
		CONDUIT, 4 IN.	Material		2 3 3 4 4 5	2025 Apr 2, 2025 Apr 16, 2025 Apr 16, 2025 May 2, 2025 May 2, 2025 May 16, 2025 May 16, 2025	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$0.00 (\$25,992.50) \$25,992.50 (\$41,440.00) \$41,440.00 (\$58,090.00) \$58,090.00	Estimate Item Adjustment (0001) due to user gonzalez overridding Payment Estimate Exception 1 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user gonzalez overridding Payment Estimate Exception 3 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user gonzalez overridding Payment Estimate Exception 3 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user gonzalez overridding Payment Estimate Item Adjustment (0003) due to user gonzalez overridding Payment
		CONDUIT, 4 IN.	Material		2 3 3 4 4 5 5	2025 Apr 2, 2025 Apr 16, 2025 Apr 16, 2025 May 2, 2025 May 2, 2025 May 16, 2025 May 16, 2025 Jun 2,	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$0.00 (\$25,992.50) \$25,992.50 (\$41,440.00) \$41,440.00 (\$58,090.00) \$58,090.00 (\$58,090.00)	Estimate Item Adjustment (0001) due to user gonzalez overridding Payment Estimate Exception 1 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user gonzalez overridding Payment Estimate Exception 3 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user gonzalez overridding Payment Estimate Exception 3 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user gonzalez overridding Payment Estimate Item Adjustment (0003) due to user gonzalez overridding Payment
		CONDUIT, 4 IN.	Material		2 3 3 4 4 5 5 6	2025 Apr 2, 2025 Apr 16, 2025 Apr 16, 2025 May 2, 2025 May 16, 2025 May 16, 2025 Jun 2, 2025 Jun 2,	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$0.00 (\$25,992.50) \$25,992.50 (\$41,440.00) \$41,440.00 (\$58,090.00) \$58,090.00 (\$58,090.00) (\$58,090.00)	Estimate Item Adjustment (0001) due to user gonzalez overridding Payment Estimate Exception 1 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user gonzalez overridding Payment Estimate Exception 3 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user gonzalez overridding Payment Estimate Exception 3 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user gonzalez overridding Payment Estimate Exception 3 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Exception 3 on the current Payment Estimate.
		CONDUIT, 4 IN.	Material		2 3 3 4 4 5 5 6 6	2025 Apr 16, 2025 Apr 16, 2025 Apr 16, 2025 May 2, 2025 May 2, 2025 May 16, 2025 Jun 2, 2025 Jun 2, 2025 Jun 16,	SYSTEM	\$0.00 (\$25,992.50) \$25,992.50 (\$41,440.00) \$41,440.00 (\$58,090.00) \$58,090.00 (\$58,090.00) (\$58,090.00) (\$58,090.00)	Estimate Item Adjustment (0001) due to user gonzalez overridding Payment Estimate Exception 1 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user gonzalez overridding Payment Estimate Exception 3 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user gonzalez overridding Payment Estimate Exception 3 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user gonzalez overridding Payment Estimate Exception 3 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Exception 3 on the current Payment Estimate.



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
JKU0116	0190	CONDUIT, 4 IN. RIGID, PUSHED	Material		8	Jul 1, 2025	SYSTEM	\$58,090.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user gonzalez overridding Payment Estimate Exception 1 on the current Payment Estimate.
					9	Jul 16, 2025	SYSTEM	(\$58,090.00)	
					9	Jul 16, 2025	SYSTEM	\$58,090.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user gonzalez overridding Payment Estimate Exception 4 on the current Payment Estimate.
					10	Aug 4, 2025	SYSTEM	(\$58,090.00)	
					10	Aug 4, 2025	SYSTEM	\$58,090.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user gonzalez overridding Payment Estimate Exception 6 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Total					\$0.00	
			Overrun	Overrun	4	May 2, 2025	SYSTEM	(\$16,650.00)	
				Overrun - T	otal			(\$16,650.00)	
			Overrun - To	tal				(\$16,650.00)	
	0190 -							(\$16,650.00)	
	0200	TRENCHING TYPE I	Material		2	Apr 2, 2025	SYSTEM	(\$38,745.00)	
					2	Apr 2, 2025	SYSTEM	\$38,745.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user gonzalez overridding Payment Estimate Exception 3 on the current Payment Estimate.
					3	Apr 16, 2025	SYSTEM	(\$49,545.00)	
					3	Apr 16, 2025	SYSTEM	\$49,545.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user gonzalez overridding Payment Estimate Exception 5 on the current Payment Estimate.
					4	May 2, 2025	SYSTEM	(\$69,885.00)	
					4	May 2, 2025	SYSTEM	\$69,885.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user gonzalez overridding Payment Estimate Exception 5 on the current Payment Estimate.
					5	May 16, 2025	SYSTEM	(\$98,370.00)	
					5	May 16, 2025	SYSTEM	\$98,370.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user gonzalez overridding Payment Estimate Exception 6 on the current Payment Estimate.
					6	Jun 2, 2025	SYSTEM	(\$108,135.00)	
					6	Jun 2, 2025	SYSTEM	\$108,135.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user gonzalez overridding Payment Estimate Exception 5 on the current Payment Estimate.
					7	Jun 16, 2025	SYSTEM	(\$114,210.00)	
					7	Jun 16, 2025	SYSTEM	\$114,210.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user gonzalez overridding Payment Estimate Exception 5 on the current Payment Estimate.
					8	Jul 1, 2025	SYSTEM	(\$116,010.00)	
					8	Jul 1, 2025	SYSTEM	\$116,010.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user gonzalez overridding Payment Estimate Exception 5 on the current Payment Estimate.
					9	Jul 16, 2025	SYSTEM	(\$119,452.50)	
					9	Jul 16, 2025	SYSTEM	\$119,452.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user gonzalez overridding Payment Estimate Exception 9 on the current Payment Estimate.
					10	Aug 4, 2025	SYSTEM	(\$120,127.50)	
					10	Aug 4, 2025	SYSTEM	\$120,127.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user gonzalez overridding Payment Estimate Exception 11 on the current Payment Estimate.



Total	ject	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
Material Food	KU0116	0200		Material	- Total				\$0.00	
PRILL BOXMD			Material - Total						\$0.00	
PREFORMED CAAS 1		0200 -	Total						\$0.00	
2		0210	PREFORMED	Material		2		SYSTEM	(\$6,354.00)	
2025 3						2		SYSTEM	\$6,354.00	Estimate Item Adjustment (0003) due to user gonzalez overridding Payment
2025 SYSTEM (\$34,947,00) Estimate Exception 4 on the current Payment Estimate System Syste						3		SYSTEM	(\$25,416.00)	
2025 4						3		SYSTEM	\$25,416.00	Estimate Item Adjustment (0005) due to user gonzalez overridding Payment
2025 SYSTEM \$52,420.50 Estimate Item Adjustment (0007) due to user grozalez overridding Payment Estimate Secretary						4		SYSTEM	(\$34,947.00)	
2025 SYSTEM \$52,420.50 This adjustment offsets the original system-generated Material Payment Estimate Learn Adjustment (2005) due to user gonzalez overridding Payment Estimate Exception 4 on the current Payment Estimate Exception 4 on the current Payment Estimate Exception 4 on the current Payment Estimate Estimate Exception 4 on the current Payment Estimate Exception 4 on the current Payment Estimate Estimate Exception 4 on the current Payment Estimate Exception 4 on the current Payment Estimate Exception 4 on the current Payment Estimate Exception 2 on the current Payment Estimate Exception 2 on the current Payment Estimate. 10						4		SYSTEM	\$34,947.00	Estimate Item Adjustment (0007) due to user gonzalez overridding Payment
2025 System Sys						5		SYSTEM	(\$52,420.50)	
2025 Jul 1, 2 SYSTEM \$71,482.50 This adjustment offsets the original system-generated Material Payment Estimate Exception 2 on the current Payment Estimate Estimate Exception 2 on the current Payment Estimate Estimate Exception 2 on the current Payment Estimate Exception 2 on the current Payment Estimate Exception 2 on the current Payment Estimate Estimate Estimate Exception 2 on the current Payment Estimate Estimate Estimate Estimate Exception 2 on the current Payment Estimate Es						5		SYSTEM	\$52,420.50	Estimate Item Adjustment (0005) due to user gonzalez overridding Payment
2025 System Sys						6		SYSTEM	(\$71,482.50)	
2025						6		SYSTEM	\$71,482.50	Estimate Item Adjustment (0003) due to user gonzalez overridding Payment
System						7		SYSTEM	(\$77,836.50)	
2025 8						7		SYSTEM	\$77,836.50	Estimate Item Adjustment (0003) due to user gonzalez overridding Payment
2025 Estimate Item Adjustment (0003) due to user gonzalez overridding Payme Estimate Exception 2 on the current Payment Estimate.						8		SYSTEM	(\$90,544.50)	
2025 9						8		SYSTEM	\$90,544.50	Estimate Item Adjustment (0003) due to user gonzalez overridding Payment
2025 Estimate Item Adjustment (0007) due to user gonzalez overridding Payme Estimate Exception 5 on the current Payment Estimate.						9		SYSTEM	(\$92,133.00)	
10						9		SYSTEM	\$92,133.00	Estimate Item Adjustment (0007) due to user gonzalez overridding Payment
Summer S						10		SYSTEM	(\$101,664.00)	
Material - Total \$0.00						10		SYSTEM	\$101,664.00	Estimate Item Adjustment (0008) due to user gonzalez overridding Payment
CABLE, 10 AWG CONDUCTOR, POLE & BRACKE 9 Jul 16, 2025 SYSTEM \$130.00 SYSTEM					- Total				\$0.00	
0220 CABLE, 10 AWG 1 CONDUCTOR, POLE & BRACKE 9 Jul 16, 2025 SYSTEM (\$130.00) 10 Aug 4, 2025 SYSTEM (\$780.00) 10 Aug 4, 2025 SYSTEM \$780.00				Material - To	Total					
1 CONDUCTOR, POLE & BRACKE 9 Jul 16, 2025 \$130.00 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user gonzalez overridding Payment Estimate Exception 6 on the current Payment Estimate. 10 Aug 4, 2025 \$100 Aug 4, 2		0210 -	Total							
9 Jul 16, 2025 SYSTEM \$130.00 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user gonzalez overridding Payment Estimate Exception 6 on the current Payment Estimate. 10 Aug 4, 2025 SYSTEM (\$780.00) 10 Aug 4, 2025 SYSTEM \$780.00 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user gonzalez overridding Payment Estimate Item Adjustment (0009) due to user gonzalez overridding Payment Estimate Exception 8 on the current Payment Estimate. - Total \$0.00 Material - Total \$0.00			1 CONDUCTOR,	Material		9		SYSTEM	(\$130.00)	
2025 10 Aug 4, 2025 \$780.00 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user gonzalez overridding Payme Estimate Exception 8 on the current Payment Estimate. -Total \$0.00 Material - Total \$0.00										Estimate Item Adjustment (0008) due to user gonzalez overridding Payment
Estimate Item Adjustment (0009) due to user gonzalez overridding Payme Estimate Exception 8 on the current Payment Estimate. - Total \$0.00 Material - Total \$0.00						10		SYSTEM	(\$780.00)	
Material - Total \$0.00						10		SYSTEM		Estimate Item Adjustment (0009) due to user gonzalez overridding Payment
					- Total				\$0.00	
0220 - Total \$0.00				Material - To	tal				\$0.00	
T		0220 -	Total						\$0.00	



roject	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
IKU0116	0240	CABLE- CONDUIT, 1 IN., 2 CONDUCTORS	Material		6	Jun 2, 2025	SYSTEM	(\$1,522.50)	
					6	Jun 2, 2025	SYSTEM	\$1,522.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user gonzalez overridding Payment Estimate Exception 3 on the current Payment Estimate.
					7	Jun 16, 2025	SYSTEM	(\$1,522.50)	
					7	Jun 16, 2025	SYSTEM	\$1,522.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user gonzalez overridding Payment Estimate Exception 3 on the current Payment Estimate.
					8	Jul 1, 2025	SYSTEM	(\$1,522.50)	
					8	Jul 1, 2025	SYSTEM	\$1,522.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user gonzalez overridding Payment Estimate Exception 3 on the current Payment Estimate.
					9	Jul 16, 2025	SYSTEM	(\$1,522.50)	
				- Total	9	Jul 16, 2025	SYSTEM	\$1,522.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user gonzalez overridding Payment Estimate Exception 7 on the current Payment Estimate.
					10	Aug 4, 2025	SYSTEM	(\$24,885.00)	
					10	Aug 4, 2025	SYSTEM	\$24,885.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user gonzalez overridding Payment Estimate Exception 9 on the current Payment Estimate.
								\$0.00	
	0240 -	Total	Material - To	tal				\$0.00 \$0.00	
	0250 POL	POLE	Material		5	May 16,	SYSTEM	(\$12,120.00)	
		FOUNDATION (45 FT. OR 13.5 M			5	2025 May 16, 2025	SYSTEM	\$12,120.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user gonzalez overridding Payment Estimate Exception 5 on the current Payment Estimate.
					6	Jun 2, 2025	SYSTEM	(\$28,280.00)	Example Exception of the series of the serie
					6	Jun 2, 2025	SYSTEM	\$28,280.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user gonzalez overridding Payment Estimate Exception 4 on the current Payment Estimate.
					7	Jun 16, 2025	SYSTEM	(\$48,480.00)	
					7	Jun 16, 2025	SYSTEM	\$48,480.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user gonzalez overridding Payment Estimate Exception 4 on the current Payment Estimate.
					8	Jul 1, 2025	SYSTEM	(\$50,500.00)	
					8	Jul 1, 2025	SYSTEM	\$50,500.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user gonzalez overridding Payment Estimate Exception 4 on the current Payment Estimate.
					9	Jul 16, 2025	SYSTEM	(\$58,580.00)	
					9	Jul 16, 2025	SYSTEM	\$58,580.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user gonzalez overridding Payment Estimate Exception 8 on the current Payment Estimate.
					10	Aug 4, 2025	SYSTEM	(\$58,580.00)	
					10	Aug 4, 2025	SYSTEM	\$58,580.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user gonzalez overridding Payment Estimate Exception 10 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To					\$0.00	
U0116 -		- Total	Material - To						

MoDOT

Contract Adjustments for Contract - 241115-C06

There are no contract adjustments to display for this contract.

Revision 5/29/2025 Page 13 of 13